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1. DOAJ stands for .........

(A) Directory of Open Access

Journals

(B) Directory of Online Agricultural

Journals

(C) Directory of Astronomy

Journals

(D) Directory of Offline

Astrophysics Journals

2. ..................... is not a secondary

document.

(A) Bibliography

(B) Encyclopedia

(C) Thesis

(D) Abstracts

1.

(A)

(B)

(C)

(D)

2.

(A)

(B)

(C)

(D)

Library and Information Science
Paper II

II
Time Allowed : 120 Minutes] [Maximum Marks : 200

Note : This paper contains Hundred (100) multiple choice questions. Each question
carrying Two (2) marks. Attempt All questions.

(100) (2)
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3. The University handbook (India)

is ............

(A) A directory

(B) A dictionary

(C) A Bibliography

(D) An Encyclopedia

4. Manupatra is primarily a database

of ...........

(A) Mathematics

(B) Medical Science

(C) Legal (Law)

(D) Religion

5. Conference proceedings ......

(i) Are sources of primary

information

(ii) Provide only biographical

information

(iii) Make available current

research

(iv) Provide only list of conference

participants

Codes :

(A) (i) and (ii) are correct

(B) (iii) and (iv) are correct

(C) (i) and (iii) are correct

(D) (i) and (iv) are correct

3.

(A)

(B)

(C)

(D)

4.

(A)

(B)

(C)

(D)

5.

(i)

(ii)

(iii)

(iv)

(A) (i)  (ii) 

(B) (iii)  (iv) 

(C) (i)  (iii) 

(D) (i)  (iv) 
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6. Emerald insight ............

(i) is an aggregator

(ii) is a publisher

(iii) makes available e-books and

e-journals

(iv) is a professional association of

librarians

Codes :

(A) (i) and (ii) are correct

(B) (ii) and (iv) are correct

(C) (i) and (iii) are correct

(D) (ii) and (iii) are correct

7. The EPWRF India Times Series ........

(i) is an online database

(ii) is a subscription-based database

(iii) open access database

(iv) is a database that makes

available data of Indian

economy

Codes :

(A) (i), (ii) and (iii) are correct

(B) (i), (ii) and (iv) are correct

(C) (ii), (iii) and (iv) are correct

(D) (i), (iii) and (iv) are correct

6.

(i)

(ii)

(iii)

(iv)

(A) (i)  (ii) 

(B) (ii)  (iv) 

(C) (i)  (iii) 

(D) (ii)  (iii) 

7.

(i)

(ii)

(iii)

(iv)

(A) (i), (ii)  (iii) 

(B) (i), (ii)  (iv) 

(C) (ii), (iii)  (iv) 

(D) (i), (iii)  (iv) 
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8. Match the following :

List I

(a) Books in print

(b) Ulrich international periodicals

directory

(c) The world of learning

(d) India who's who

List II

(i) Bibliography of periodicals

(ii) Trade bibliography

(iii) Biographical source

(iv) Directory

Codes :

(a) (b) (c) (d)

(A) (ii) (i) (iii) (iv)

(B) (i) (ii) (iii) (iv)

(C) (ii) (iii) (iv) (i)

(D) (ii) (i) (iv) (iii)

9. Identify the correct evolutionary

sequence of the following year-

books :

(i) Europa World Yearbook

(ii) India : a reference annual

(iii) Manorama Yearbook

(iv) Statesman’s Yearbook

Codes :

(A) (iv) (i) (ii) (iii)

(B) (iv) (i) (ii) (iii)

(C) (iv) (iii) (ii) (i)

(D) (i) (ii) (iii) (iv)

8.

I

(a)

(b)

(c)

(d)

II

(i)

(ii)

(iii)

(iv)

(a) (b) (c) (d)

(A) (ii) (i) (iii) (iv)

(B) (i) (ii) (iii) (iv)

(C) (ii) (iii) (iv) (i)

(D) (ii) (i) (iv) (iii)

9.

(i)

(ii)

(iii)

(iv)

(A) (iv) (i) (ii) (iii)

(B) (iv) (i) (ii) (iii)

(C) (iv) (iii) (ii) (i)

(D) (i) (ii) (iii) (iv)
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10. Statement (A) : Web of Science

provides only full text articles.

Statement (B) : Web of Science

provides abstracts and citations.

Codes :

(A) Both (A) and (B) are correct

(B) Both (A) and (B) are incorrect

(C) (A) correct but (B) is incorrect

(D) (A) is incorrect and (B) is

correct

11. In a virtual reference service, what

technology is commonly used for

real-time communication between

librarians and users ?

(A) Morse code

(B) Carrier pigeons

(C) Email

(D) Smoke signals

12. What is the primary purpose of a

current awareness service ?

(A) Entertainment

(B) Social Networking

(C) Providing latest information

(D) Fitness Tracking

10. (A) : 

(B) :

(A) (A)  (B) 

(B) (A)  (B) 

(C) (A) (B) 

(D) (A) (B) 

11.

(A)

(B)

(C)

(D)

12.

(A)

(B)

(C)

(D)
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13. What is the purpose of geocoding in

the context of geo-location ?

(A) Locating geological formations

(B) Assigning geographic

coordinates to an address

(C) Measuring earthquake

magnitudes

(D) Predicting weather patterns

14. Which international organization

plays a significant role in

standardizing patent information

and promoting global cooperation in

the field ?

(A) UNESCO

(B) WIPO

(C) WTO

(D) WHO

13.

(A)

(B)

(C)

(D)

14.

(A)

(B)

(C)

(D)
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15. In context with web 2.0 technology,

RSS stands for ..........

(i) Really Simple Syndication

(ii) Rich Site Summary

(iii) Remote Site Sync

(iv) RDF Site Summary

Codes :

(A) (i), (ii), (iii) are correct

(B) (i), (ii), (iv) are correct

(C) (i), (iii), (iv) are correct

(D) (ii), (iii), (iv) are correct

16. Which protocols are often utilized by

web scale discovery services to

aggregate content ?

(i) Z39.50

(ii) OAI-PMH

(iii) SRU/W

(iv) FTP

Codes :

(A) (ii), (iii), (iv) are correct

(B) (i), (ii), (iii) are correct

(C) (i), (iii), (iv) are correct

(D) (i), (ii), (iv) are correct

15. 2.0 

(i)

(ii)

(iii)

(iv)

(A) (i), (ii), (iii) 

(B) (i), (ii), (iv) 

(C) (i), (iii), (iv) 

(D) (ii), (iii), (iv) 

16.

(i) 39.50

(ii)

(iii)

(iv)

(A) (ii), (iii), (iv) 

(B) (i), (ii), (iii) 

(C) (i), (iii), (iv) 

(D) (i), (ii), (iv) 
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17. Which technologies are associated

with librarian 2.0 practices ?

(i) RFID technology

(ii) Cloud computing

(iii) Virtual reality

(iv) Dewey Decimal System

Codes :

(A) (ii), (iii), (iv) are correct

(B) (i), (iii), (iv) are correct

(C) (i), (ii), (iii) are correct

(D) (i), (ii), (iv) are correct

18. Match the following :

List I

(a) INIS

(b) AGRIS

(c) INFOTERRA

(d) APINESS

List II

(i) Food and Agriculture

Organization

(ii) UNESCO

(iii) International Atomic Energy

Agency

(iv) United Nations Environment

Program

Codes :

(a) (b) (c) (d)

(A) (ii) (iv) (i) (iii)

(B) (iv) (i) (ii) (iii)

(C) (ii) (iii) (iv) (i)

(D) (iii) (i) (iv) (ii)

17. 2.0

(i)

(ii)

(iii)

(iv)

(A) (ii), (iii), (iv) 

(B) (i), (iii), (iv) 

(C) (i), (ii), (iii) 

(D) (i), (ii), (iv) 

18.

I

(a)

(b)

(c)

(d)

 II

(i)

(ii)

(iii)

(iv)

 :

(a) (b) (c) (d)

(A) (ii) (iv) (i) (iii)

(B) (iv) (i) (ii) (iii)

(C) (ii) (iii) (iv) (i)

(D) (iii) (i) (iv) (ii)
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19. Arrange the Library Networks in

chronological order of their

establishment ?

(i) INFLIBNET

(ii) NICNET

(iii) DELNET

(iv) BALNET

Codes :

(A) (iii) (ii) (iv) (i)

(B) (ii) (i) (iii) (iv)

(C) (iv) (iii) (ii) (i)

(D) (i) (iv) (ii) (iii)

20. Assertion (A) : Library Consortia

play a pivotal role in enhancing

resource-sharing and collaboration

among libraries.

Reason (R) : Library consortia

facilitate cost-effective access to a

wide range of resources, including

books, journals and electronic

databases, by leveraging collective

bargaining power.

Codes :

(A) (A) is false but (R) is true

(B) (A) is true but (R) is false

(C) Both (A) and (R) are true

(D) Both (A) and (R) are false

19.

(i)

(ii)

(iii)

(iv)

 :

(A) (iii) (ii) (iv) (i)

(B) (ii) (i) (iii) (iv)

(C) (iv) (iii) (ii) (i)

(D) (i) (iv) (ii) (iii)

20. (A) :

(R) :

 :

(A) (A) (R) 

(B) (A) (R) 

(C)  (A)  (R) 

(D)  (A)  (R) 
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21. ‘POSDCORB’

(A)

(B)

(C)

(D)

22.

(A)

(B)

(C)

(D)

23.

(A)

(B)

(C)

(D)

21. The acronym ‘POSDCORB’ was

coined by ......................

(A) Elton Mayo

(B) Chester Bernard

(C) Lillian Gilbreth

(D) Luther Gulick and L. Urwick

22. Theory of motivation is considered

as basic factor in all work related

studies on motivation, has been

proposed by .........

(A) Herzberg

(B) Maslow

(C) Bakke and Argyris

(D) Douglas McGregor

23. External causes of deterioration of

library materials are :

(A) Light, Temperature and

Humidity

(B) Ink

(C) Leather

(D) Photographs and Films
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24. Based on experience Henry Fayol

listed the principles :

(i) Division of Labour

(ii) Unity of command

(iii) Library Science is an

experimental science

(iv) No Library is an Island

Codes :

(A) Both (i) and (ii) are correct

(B) Both (i) and (iii) are correct

(C) (i) and (iv) are correct

(D) (ii) and (iii) are correct

25. Resistance is inevitable response to

any major changes because of ..........

(i) Lack of understanding

(ii) Fear of unknown and failure

(iii) Lack of competency

(iv) Over confidence

Codes :

(A) (i), (ii) and (iii) are correct

(B) (i), (ii) and (iv) are correct

(C) (i), (iii) and (iv) are correct

(D) (ii), (iii) and (iv) are correct

24.

(i)

(ii)

(iii)

(iv)

(A)  (i)  (ii) 

(B)  (i)  (iii) 

(C) (i)  (iv) 

(D) (ii)  (iii) 

25.

(i)

(ii)

(iii)

(iv)

(A) (i), (ii)  (iii) 

(B) (i), (ii)  (iv) 

(C) (i), (iii)  (iv) 

(D) (ii), (iii)  (iv) 
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26. The types of information needed by

scientist are :

(i) Experimental information

(ii) Know-why information

(iii) User information

(iv) Know-how information

Codes :

(A) (i), (ii) and (iii) are correct

(B) (ii), (iii) and (iv) are correct

(C) (i), (ii) and (iv) are correct

(D) (i), (iii) and (iv) are correct

27. Items of furniture and equipment in

a library include :

(i) Book racks

(ii) Periodical display racks

(iii) Microform

(iv) Computer

Codes :

(A) (i), (ii) and (iii) are correct

(B) (ii), (iii) and (iv) are correct

(C) (i), (ii) and (iv) are correct

(D) (i), (iii) and (iv) are correct

26.

(i)

(ii)

(iii)

(iv)

(A) (i), (ii)  (iii) 

(B) (ii), (iii)  (iv) 

(C) (i), (ii)  (iv) 

(D) (i), (iii)  (iv) 

27.

(i)

(ii)

(iii)

(iv)

(A) (i), (ii)  (iii) 

(B) (ii), (iii)  (iv) 

(C) (i), (ii)  (iv) 

(D) (i), (iii)  (iv) 
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28. Match the following :

List I

(a) Broadcasting

(b) Mass media

(c) Product promotion

(d) Demography

List II

(i) Market segmentation

(ii) Library website

(iii) Journals

(iv) Radio and Television

Codes :

(a) (b) (c) (d)

(A) (iv) (iii) (ii) (i)

(B) (i) (ii) (iii) (iv)

(C) (ii) (i) (iv) (iii)

(D) (iii) (iv) (ii) (i)

28.

I

(a)

(b)

(c)

(d)

II

(i)

(ii)

(iii)

(iv)

 :

(a) (b) (c) (d)

(A) (iv) (iii) (ii) (i)

(B) (i) (ii) (iii) (iv)

(C) (ii) (i) (iv) (iii)

(D) (iii) (iv) (ii) (i)
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29. Arrange the following product

development stages in logical

order :

(i) Product development

(ii) Product testing

(iii) Search for ideas

(iv) Product launching

Codes :

(A) (i) (ii) (iii) (iv)

(B) (iii) (i) (ii) (iv)

(C) (iv) (iii) (ii) (i)

(D) (iv) (ii) (iii) (i)

30. Assertion (A) : The circulation desk

staff play critical role in a library.

Reason (R) : Circulation staff

build image of the library.

Codes :

(A) (A) is true but (R) is false

(B) (A) is false but (R) is true

(C) Both (A) and (R) are false

(D) Both (A) and (R) are true

29.

(i)

(ii)

(iii)

(iv)

(A) (i) (ii) (iii) (iv)

(B) (iii) (i) (ii) (iv)

(C) (iv) (iii) (ii) (i)

(D) (iv) (ii) (iii) (i)

30. (A) :

(R) :

(A) (A) (R) 

(B) (A) (R) 

(C)  (A)  (R) 

(D)  (A)  (R) 
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31. .............. protocol is used to map MAC

address to IP address.

(A) TCP

(B) ARP

(C) ICMP

(D) BOOTP

32. Asynchronous transmission is also

known as ........ transmission.

(A) Start-stop

(B) One-way

(C) Continuous streaming

(D) Two-way

33. ............... improves utilization of

communication networks and also

provides fault tolerance.

(A) Circuit switching

(B) Packet switching

(C) Message switching

(D) Virtual switching

31.

(A)

(B)

(C)

(D)

32.

(A)

(B)

(C)

(D)

33.

(A)

(B)

(C)

(D)



18

APR - 18224/II—B

34. IPv6 is also known as ........

(A) IP6G

(B) IPng

(C) IPig

(D) IP5G

35. Which of the following are two types

of DNS (Domain Name System)

records ?

(i) Request

(ii) Responses

(iii) Question

(iv) Resources

Codes :

(A) (i) and (ii) are correct

(B) (ii) and (iii) are correct

(C) (iii) and (iv) are correct

(D) (i) and (iv) are correct

36. The AR APP ‘‘Timescape : Kolkata’’

is developed by ........

(i) University Liverpool

(ii) Jadhavpur University

(iii) British Library

(iv) Kolkata University

(v) Mellon foundation

Codes :

(A) (i), (ii) and (v) are correct

(B) (ii), (iii) and (iv) are correct

(C) (i), (ii) and (iii) are correct

(D) (iii), (iv) and (v) are correct

34. 6 (IPv6)

(A) 6

(B)

(C)

(D) 5

35.

(DNS)

(i)

(ii)

(iii)

(iv)

(A) (i)  (ii) 

(B) (ii)  (iii) 

(C) (iii)  (iv) 

(D) (i)  (iv) 

36.

(i)

(ii)

(iii)

(iv)

(v)

(A) (i), (ii)  (v) 

(B) (ii), (iii)  (iv) 

(C) (i), (ii)  (iii) 

(D) (iii), (iv)  (v) 
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37. Which of the following are

associated with the session layer ?

(i) Dialog control

(ii) Token Management

(iii) Semantics of the information

transmitted

(iv) Synchronization

Codes :

(A) (i), (ii) and (iii) are correct

(B) (i), (ii) and (iv) are correct

(C) (ii), (iii) and (iv) are correct

(D) (i), (iii) and (iv) are correct

38. Arrange the following networks

according to their year of establish-

ment :

(i) CSNET

(ii) NSFNET

(iii) ARPANET

(iv) ANSNET

Codes :

(A) (iii) (iv) (ii) (i)

(B) (ii) (iii) (iv) (i)

(C) (iii) (i) (ii) (iv)

(D) (iv) (iii) (i) (ii)

37.

(i)

(ii)

(iii)

(iv)

(A) (i), (ii)  (iii) 

(B) (i), (ii)  (iv) 

(C) (ii), (iii)  (iv) 

(D) (i), (iii)  (iv) 

38.

(i)

(ii)

(iii)

(iv)

(A) (iii) (iv) (ii) (i)

(B) (ii) (iii) (iv) (i)

(C) (iii) (i) (ii) (iv)

(D) (iv) (iii) (i) (ii)
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39. Match the following :

List I List II

(a) Google (i) Hive

(b) Samsung (ii) Playstation VR

(c) HTC (iii) Gear VR

(d) Sony (iv) Cardboard

Codes :

(a) (b) (c) (d)

(A) (ii) (iii) (iv) (i)

(B) (iv) (iii) (i) (ii)

(C) (iii) (iv) (ii) (i)

(D) (iv) (i) (ii) (iii)

40. Assertion (A) : In 1995 the

Federation National Council

referred the internet as global

information system.

Reason (R) : Every minute

information published in the world

is available on the internet.

Codes :

(A) Both (A) and (R) are true

(B) Both (A) and (R) are false

(C) (A) is true but (R) is false

(D) (A) is false but (R) is true

39.

 I II

(a) (i)

(b) (ii)

(c) (iii)

(d) (iv)

 :

(a) (b) (c) (d)

(A) (ii) (iii) (iv) (i)

(B) (iv) (iii) (i) (ii)

(C) (iii) (iv) (ii) (i)

(D) (iv) (i) (ii) (iii)

40. (A) : 1995 

(R) : 

 :

(A)  (A)  (R) 

(B)  (A)  (R) 

(C) (A)  (R) 

(D) (A) (R) 



21 [P.T.O.

APR - 18224/II—B

41. (RDF)

(A)

(B)

(C)

(D)

42.

(A) 1

(B) 2

(C) 3

(D) 4

43. (AI)

(A)

(B)

(C)

(D)

41. The language used by RDF is

called ..............

(A) RDF/XML

(B) HTML/RDF

(C) RDF/HTML

(D) RDF/SGML

42. Position detection pattern are

arranged at ........... corners of QR

code.

(A) 1

(B) 2

(C) 3

(D) 4

43. Which type of AI is supposed to be

hypothetical ?

(A) Artificial Narrow Intelligence

(B) Artificial General Intelligence

(C) Artificial Super Intelligence

(D) Robotic Artificial Intelligence
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44. (Econstor)

(A)

(B)

(C)

(D)

45.  (XML)

(i)

(ii)

(iii)

(iv)

(A) (i)  (ii) 

(B) (ii)  (iv) 

(C) (i)  (iii) 

(D) (ii)  (iii) 

44. Econstor is a non-profit digital

archiving service provided by .......

(A) Library of Congress

(B) Australian National Library of

Economics

(C) German National Library of

Economics

(D) National Library of Economics,

Netherland

45. ............. and ............. are syntaxes for

pointing to parts of an XML

documents.

(i) X pointer

(ii) X link

(iii) X fragments

(iv) CSS

Codes :

(A) (i) and (ii) are correct

(B) (ii) and (iv) are correct

(C) (i) and (iii) are correct

(D) (ii) and (iii) are correct
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46. (DEITY)

(i)

(ii)

(iii)

(iv)

(A) (i)  (ii) 

(B) (i)  (iii) 

(C) (ii)  (iii) 

(D) (ii)  (iv) 

47. (IaaS)

(i)

(ii)

(iii)

(iv)

(A) (i)  (ii) 

(B) (i)  (iv) 

(C) (iii)  (iv) 

(D) (ii)  (iv) 

46. DEITY (Department of Electronics

and Information Technology) has

awarded the project entitled,

‘‘centre for excellence for digital

preservation’’ to which of the

following agencies ?

(i) C-DAC Pune

(ii) C-DAC Bangalore

(iii) C-DAC Noida

(iv) IIT Kharagpur

Codes :

(A) (i) and (ii) are correct

(B) (i) and (iii) are correct

(C) (ii) and (iii) are correct

(D) (ii) and (iv) are correct

47. Which of the following provides

IaaS ?

(i) Rackspace

(ii) Duraspace

(iii) Liblime

(iv) Amazon Web Service

Codes :

(A) (i) and (ii) are correct

(B) (i) and (iv) are correct

(C) (iii) and (iv) are correct

(D) (ii) and (iv) are correct
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48. Match the following :

List I

(a) Amazon Web Service

(b) Eucalyptus

(c) Openstack

(d) Gigaspaces cloudify

List II

(i) GPLv3

(ii) Proprietary

(iii) Apache2

(iv) Open source

Codes :

(a) (b) (c) (d)

(A) (i) (ii) (iv) (iii)

(B) (ii) (iii) (iv) (i)

(C) (ii) (i) (iii) (iv)

(D) (iv) (i) (ii) (iii)

48.

I

(a)

(b)

(c)

(d)

II

(i) 3

(ii)

(iii) 2

(iv)

 :

(a) (b) (c) (d)

(A) (i) (ii) (iv) (iii)

(B) (ii) (iii) (iv) (i)

(C) (ii) (i) (iii) (iv)

(D) (iv) (i) (ii) (iii)
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49. Arrange the following digital

Libraries in the order in which they

were established :

(i) TKDL

(ii) Muktabodha

(iii) Nalanda Digital Library

(iv) NSDL

Codes :

(A) (i) (iv) (iii) (ii)

(B) (iv) (i) (ii) (iii)

(C) (iii) (i) (iv) (ii)

(D) (i) (iv) (ii) (iii)

50. Assertion (A) : Libraries are facing

challenges while adopting linked

data.

Reason (R) : Libraries so long have

relied on document Centric models

such as MARC and not on data

centric model.

Codes :

(A) (A) is true but (R) is false

(B) (A) is false but (R) is true

(C) Both (A) and (R) are true

(D) Both (A) and (R) are false

49.

(i)

(ii)

(iii)

(iv)

(A) (i) (iv) (iii) (ii)

(B) (iv) (i) (ii) (iii)

(C) (iii) (i) (iv) (ii)

(D) (i) (iv) (ii) (iii)

50. (A) : 

(R) : (MARC)

 :

(A) (A)  (R) 

(B) (A) (R) 

(C)  (A)  (R) 

(D)  (A)  (R) 
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51. Who owns the Web of Science

currently ?

(A) Elsevier

(B) Clarivate Analytics

(C) Springer

(D) Thomas Reuters

52. What is the purpose of literature

review ?

(A) To find out what is already

researched

(B) To carry out citation study

(C) To have a long list of references

(D) To increase the size of the

research report

53. Case study ............

(A) Tries to understand population’s

characteristics by studying

samples

(B) Attempts to find why and how

one variable produces change in

another variable

(C) Enquires only about past

happenings

(D) Carries out in depth contextual

analysis of a single research

element

51.

(A)

(B)

(C)

(D)

52.

(A)

(B)

(C)

(D)

53.

(A)

(B)

(C)

(D)
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54. Which of the following is a feature

of non-probability sampling ?

(A) Random

(B) Objective

(C) Subjective

(D) Systematic

55. Which of the following is not

included in the ‘introduction’ chapter

of a research report ?

(i) Objectives of the research

(ii) Analysis and interpretation

(iii) Recommendations

(iv) Scope and limitations

Codes :

(A) (i) and (ii) are correct

(B) (ii) and (iii) are correct

(C) (ii) and (iv) are correct

(D) (i) and (iv) are correct

54.

(A)

(B)

(C)

(D)

55.

(i)

(ii)

(iii)

(iv)

(A) (i)  (ii) 

(B) (ii)  (iii) 

(C) (ii)  (iv) 

(D) (i)  (iv) 
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56. ........... and .......... are data collection

techniques and tools.

(i) Diary

(ii) Sampling

(iii) Data analysis and inter-

pretation

(iv) Survey Monkey

Codes :

(A) (i) and (ii) are correct

(B) (ii) and (iii) are correct

(C) (iii) and (iv) are correct

(D) (i) and (iv) are correct

57. .......... and ......... could be found by

applying the law of scattering.

(i) Core journals

(ii) Ranked list of journals

(iii) Impact factor

(iv) Author’s productivity

Codes :

(A) (i) and (ii) are correct

(B) (ii) and (iii) are correct

(C) (iii) and (iv) are correct

(D) (i) and (iv) are correct

56. ...........  .......... 

(i)

(ii)

(iii)

(iv)

(A) (i)  (ii) 

(B) (ii)  (iii) 

(C) (iii)  (iv) 

(D) (i)  (iv) 

57.

(i)

(ii)

(iii)

(iv)

(A) (i)  (ii) 

(B) (ii)  (iii) 

(C) (iii)  (iv) 

(D) (i)  (iv) 
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58. Assertion (A) : Questionnaire data

are supplemented by data collected

through interview.

Reason (R) : Compared to

questionnaire data, interview data

is more reliable.

Codes :

(A) Both (A) and (R) are false

(B) (A) is true but (R) is false

(C) (A) is false but (R) is true

(D) Both (A) and (R) are true

59. Identify the logical sequence of

activities related to compiling a

literature review :

(A) Identification of keywords,

formulation of search strategy,

searching literature, writing

literature review

(B) Identification of keywords,

formulation of search strategy,

searching literature, reading

literature, writing literature

review

(C) Formulation of search strategy,

Identification of keywords,

searching literature, reading

literature, writing literature

review

(D) Reading literature, identifi-

cation of keywords, formulation

of search strategy, searching

literature, writing literature

review

58. (A) : 

(R) :

 :

(A)  (A)  (R) 

(B) (A)  (R) 

(C) (A) (R) 

(D)  (A)  (R) 

59.

(A)

(B)

(C)

(D)
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60. Match the following :

List I

(a) Questionnaire

(b) Census report

(c) Observation

(d) Interview

List II

(i) Participant and non-

participants

(ii) Close and open ended

(iii) Secondary data

(iv) Focus group

Codes :

(a) (b) (c) (d)

(A) (i) (ii) (iii) (iv)

(B) (iv) (iii) (ii) (i)

(C) (iii) (ii) (i) (iv)

(D) (ii) (iii) (i) (iv)

60.

I

(a)

(b)

(c)

(d)

II

(i)

(ii)

(iii)

(iv)

 :

(a) (b) (c) (d)

(A) (i) (ii) (iii) (iv)

(B) (iv) (iii) (ii) (i)

(C) (iii) (ii) (i) (iv)

(D) (ii) (iii) (i) (iv)
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61. In the 6th Edition of Colon

Classification the phase relation

notation ‘‘e’’ shows .......

(A) Comparison

(B) Influence

(C) General

(D) Tool

62. How many levels of description

AACR II specifies ?

(A) 2

(B) 3

(C) 5

(D) 4

63. ................ is loosely assembled and

are in incidental relation which can

be easily set apart.

(A) Facet

(B) Phases

(C) Array

(D) Basic subject

61. 6

‘‘e’’

(A)

(B)

(C)

(D)

62. II 

(A) 2

(B) 3

(C) 5

(D) 4

63.

(A)

(B)

(C)

(D)
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64. The analysed layout and text object

(ALTO) XML Schema was first

created by the ...........

(A) METAe project group

(B) Research Libraries group RL

(C) University of Michigan

(D) Wikipedia

65. Which of the following are special

auxiliary subdivisions in UDC ?

(i) Colon

(ii) Apostrophe

(iii) Point nought

(iv) Sub-grouping

Codes :

(A) (i) and (ii) are correct

(B) (ii) and (iv) are correct

(C) (ii) and (iii) are correct

(D) (i) and (iv) are correct

66. In RDA the class of materials are

represented by ..........

(i) Context type

(ii) Carrier type

(iii) Media type

(iv) Content type

Codes :

(A) (i), (ii) and (iii) are correct

(B) (i), (iii) and (iv) are correct

(C) (ii), (iii) and (iv) are correct

(D) (iv), (i) and (ii) are correct

64.

(ALTO) XML 

(A) METAe 

(B)

(C)

(D)

65.

(i)

(ii)

(iii)

(iv)

(A) (i)  (ii) 

(B) (ii)  (iv) 

(C) (ii)  (iii) 

(D) (i)  (iv) 

66.

(i)

(ii)

(iii)

(iv)

(A) (i), (ii)  (iii) 

(B) (i), (iii)  (iv) 

(C) (ii), (iii)  (iv) 

(D) (iv), (i)  (ii) 
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67. Match the following :

List I List II

(a) COMPASS (i) 1966

(b) SLIC (ii) 1968

(c) NEPHIS (iii) 1977

(d) PRECIS (iv) 1990

Codes :

(a) (b) (c) (d)

(A) (iv) (i) (iii) (ii)

(B) (iii) (iv) (i) (ii)

(C) (ii) (iii) (iv) (i)

(D) (i) (ii) (iii) (iv)

68. Arrange the following categories of

controlled vocabularies in increasing

order of flexibility for post

co-ordinate :

(i) Classification schemes

(ii) Ontologies

(iii) Subject Heading List

(iv) Thesauri

Codes :

(A) (iv), (i), (ii) and (iii)

(B) (iii), (iv), (ii) and (i)

(C) (ii), (i), (iii) and (iv)

(D) (i), (iii), (iv) and (ii)

67.

 I  II

(a) COMPASS (i) 1966

(b) SLIC (ii) 1968

(c) (iii) 1977

(d) PRECIS (iv) 1990

 :

(a) (b) (c) (d)

(A) (iv) (i) (iii) (ii)

(B) (iii) (iv) (i) (ii)

(C) (ii) (iii) (iv) (i)

(D) (i) (ii) (iii) (iv)

68.

(i)

(ii)

(iii)

(iv)

(A) (iv), (i), (ii)  (iii)

(B) (iii), (iv), (ii)  (i)

(C) (ii), (i), (iii)  (iv)

(D) (i), (iii), (iv)  (ii)
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69. Statement (A) : Bibliographic

utility organisations offer

bibliographic services to subscribing

libraries.

Statement (B) : Library of

Congress is a bibliographic utility

organization.

Codes :

(A) Statement (A) is true  but (B)

is false

(B) Statement (A) is false but (B)

is true

(C) Statement (A) and (B) are false

(D) Both (A) and (B) are true

70. In ............, the bandwidth of a

channel is shared by a number of

independent signals.

(A) Space division multiplexing

(B) Frequency division multi-

plexing

(C) Time division multiplexing

(D) Code division multiplexing

69. (A) :

(B) : 

(A) (A) (B) 

(B) (A) (B) 

(C) (A)  (B) 

(D)  (A)  (B) 

70.

(A)

(B)

(C)

(D)
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71. The Calcutta Public Library was

established largely at the initiative

of ............

(A) K.M. Asadullah

(B) Lord Curzon

(C) F.P. Strong

(D) J.H. Stocqueler

72. Number of management principles

given by Henry Fayol are .........

(A) 12

(B) 14

(C) 16

(D) 10

73. Which is not the part of marketing

mix ?

(A) Product Design

(B) Product Distribution

(C) Product reduction

(D) Product pricing

71.

(A)

(B)

(C)

(D)

72.

(A) 12

(B) 14

(C) 16

(D) 10

73.

(A)

(B)

(C)

(D)
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74. The promotional channel of

marketing is ............

(A) Expenditure

(B) Profitability

(C) Overheads

(D) Demonstration

75. Which elements were included in

commodity information system ?

(i) Health data

(ii) Population data

(iii) Education data

(iv) Profit data

Codes :

(A) (i) and (iv) are correct

(B) (ii) and (iv) are correct

(C) (i), (ii) and (iv) are correct

(D) (i), (ii) and (iii) are correct

76. Which of the following are not

consortiums of Medical Science ?

(i) ERMED

(ii) NTRMED

(iii) MEDLARS

(iv) PUBMED

Codes :

(A) (i) and (ii) are correct

(B) (i) and (iii) are correct

(C) (iii) and (iv) are correct

(D) (ii) and (iv) are correct

74.

(A)

(B)

(C)

(D)

75.

(i)

(ii)

(iii)

(iv)

(A) (i)  (iv) 

(B) (ii)  (iv) 

(C) (i), (ii)  (iv) 

(D) (i), (ii)  (iii) 

76.

(i)

(ii)

(iii)

(iv)

(A) (i)  (ii) 

(B) (i)  (iii) 

(C) (iii)  (iv) 

(D) (ii)  (iv) 
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77. ............... and .......... are primary

sources.

(i) Bibliography

(ii) Yearbooks

(iii) Conference Proceedings

(iv) Journals

Codes :

(A) (i) and (iv) are correct

(B) (i) and (ii) are correct

(C) (ii) and (iii) are correct

(D) (iii) and (iv) are correct

78. Match the following :

List I

(a) Indian Citation Index

(b) Science Citation Index

(c) Scopus

(d) Web of Science

List II

(i) 1964

(ii) 1997

(iii) 2004

(iv) 2009

Codes :

(a) (b) (c) (d)

(A) (ii) (i) (iii) (iv)

(B) (i) (ii) (iii) (iv)

(C) (iv) (i) (iii) (ii)

(D) (ii) (i) (iv) (iii)

77.

(i)

(ii)

(iii)

(iv)

(A) (i)  (iv) 

(B) (i)  (ii) 

(C) (ii)  (iii) 

(D) (iii)  (iv) 

78.

 I

(a)

(b)

(c)

(d)

 II

(i) 1964

(ii) 1997

(iii) 2004

(iv) 2009

 :

(a) (b) (c) (d)

(A) (ii) (i) (iii) (iv)

(B) (i) (ii) (iii) (iv)

(C) (iv) (i) (iii) (ii)

(D) (ii) (i) (iv) (iii)



38

APR - 18224/II—B

79. Arrange the information centres in

chronological order of their

establishment year :

(i) NASSDOC

(ii) DESIDOC

(iii) INSDOC

(iv) SENDOC

Codes :

(A) (iv) (iii) (ii) (i)

(B) (i) (iv) (iii) (ii)

(C) (iii) (ii) (i) (iv)

(D) (ii) (i) (iv) (iii)

80. Assertion (A) : Product constitutes

heart of marketing.

Reason (R) : Marketing myopia is

need of the day.

Codes :

(A) (A) is false but (R) is true

(B) (A) is true but (R) is false

(C) Both (A) and (R) are true

(D) Both (A) and (R) are false

79.

(i)

(ii)

(iii)

(iv)

 :

(A) (iv) (iii) (ii) (i)

(B) (i) (iv) (iii) (ii)

(C) (iii) (ii) (i) (iv)

(D) (ii) (i) (iv) (iii)

80. (A) : 

(R) : 

(A) (A) (R) 

(B) (A) (R) 

(C)  (A)  (R) 

(D)  (A)  (R) 
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81. ............... proposed source coding as

a method of achieving efficiency in

communication.

(A) Lasswell

(B) Gerbner

(C) Vintage

(D) Shannon

82. ............ communication is a method

of communication through speech.

(A) Written

(B) Oral

(C) Structural

(D) Non-verbal

83. ........... knowledge can be

communicated and expressed in the

form of documents.

(A) Explicit

(B) Implicit

(C) Non-verbal

(D) Verbal

84. The Chinese developed the

technique of block printing by

............. AD.

(A) 8th Century

(B) 5th Century

(C) 12th Century

(D) 13th Century

81.

(A)

(B)

(C)

(D)

82.

(A)

(B)

(C)

(D)

83.

(A)

(B)

(C)

(D)

84.

(A) 8

(B) 5

(C) 12

(D) 13
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85. Gerbner’s communication model was

developed in ..........

(A) 1948

(B) 1956

(C) 1968

(D) 1966

86. Barlo’s model of communication

consists source, message, ....... and

...........

(i) Channel

(ii) Receiver

(iii) Sender

(iv) Information

Codes :

(A) (i) and (ii) are correct

(B) (ii) and (iii) are correct

(C) (iii) and (iv) are correct

(D) (i) and (iv) are correct

85.

(A) 1948

(B) 1956

(C) 1968

(D) 1966

86.

(i)

(ii)

(iii)

(iv)

(A) (i)  (ii) 

(B) (ii)  (iii) 

(C) (iii)  (iv) 

(D) (i)  (iv) 
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87. J.H. Shera has segregated

information into .......... and ..........

types.

(i) Conceptual information

(ii) Qualitative information

(iii) Quantitative information

(iv) Empirical information

Codes :

(A) (ii) and (iv) are correct

(B) (iii) and (iv) are correct

(C) (ii) and (iii) are correct

(D) (i) and (iv) are correct

88. Information storage and retrieval

deals with ....... and .........

(i) Information recording

(ii) Information creation

(iii) Information access

(iv) Information security

Codes :

(A) (i) and (iii) are correct

(B) (ii) and (iii) are correct

(C) (iii) and (iv) are correct

(D) (ii) and (iv) are correct

87.

(i)

(ii)

(iii)

(iv)

(A) (ii)  (iv) 

(B) (iii)  (iv) 

(C) (ii)  (iii) 

(D) (i)  (iv) 

88.

(i)

(ii)

(iii)

(iv)

(A) (i)  (iii) 

(B) (ii)  (iii) 

(C) (iii)  (iv) 

(D) (ii)  (iv) 
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89. Arrange the ‘Information Life Cycle’
steps correctly :

(i) Identification

(ii) Authorization

(iii) Verification, validation,
auditing

(iv) Design and creation of records

Codes :

(A) (i), (ii), (iii), (iv)

(B) (iv), (iii), (ii), (i)

(C) (iii), (ii), (i) (iv)

(D) (iv), (i), (ii), (iii)

90. Match the following :

List I List II

(a) Shannon and (i) 1949

Weaver’s Communi-

cation Model

(b) Berlo’s (ii) 1960

communication

Model

(c) Foulger’s (iii) 2002

Communication

Model

(d) Dance’s Helical (iv) 1967

Spiral Model

Codes :

(a) (b) (c) (d)

(A) (i) (ii) (iii) (iv)

(B) (iv) (iii) (ii) (i)

(C) (iii) (iv) (i) (ii)

(D) (iv) (ii) (iii) (i)

89.

(i)

(ii)

(iii)

(iv)

(A) (i), (ii), (iii), (iv)

(B) (iv), (iii), (ii), (i)

(C) (iii), (ii), (i) (iv)

(D) (iv), (i), (ii), (iii)

90.

 I  II

(a) (i) 1949

(b) (ii) 1960

(c) (iii) 2002

(d) (iv) 1967

(a) (b) (c) (d)

(A) (i) (ii) (iii) (iv)

(B) (iv) (iii) (ii) (i)

(C) (iii) (iv) (i) (ii)

(D) (iv) (ii) (iii) (i)
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91. Karnataka State enacted the Public

Library Act in ........

(A) 1962

(B) 1963

(C) 1965

(D) 1968

92. What is the primary goal of a

usability study ?

(A) Gathering demographic

information

(B) Evaluating user satisfaction

(C) Conducting competitor

analysis

(D) Identifying software bugs

93. In which year was the ‘National

Policy on Library and Information

System’ introduced in India ?

(A) 2000

(B) 1986

(C) 1988

(D) 2012

91.

(A) 1962

(B) 1963

(C) 1965

(D) 1968

92.

(A)

(B)

(C)

(D)

93.

(A) 2000

(B) 1986

(C) 1988

(D) 2012
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94. Which of the following is a key focus

area of UNESCO’s user education

program ?

(A) Agricultural innovation

(B) Space exploration

(C) Information and commu-

nication technologies

(D) Automotive Engineering

95. According to the concept of user in

Information Science user can be

categorized as :

(i) Passive consumers

(ii) Active producers

(iii) Information seekers

(iv) Information creators

Codes :

(A) (i), (ii), (iii) are correct

(B) (ii), (iii), (iv) are correct

(C) (i), (ii), (iv) are correct

(D) (i), (iii), (iv) are correct

94.

(A)

(B)

(C)

(D)

95.

(i)

(ii)

(iii)

(iv)

(A) (i), (ii), (iii) 

(B) (ii), (iii), (iv) 

(C) (i), (ii), (iv) 

(D) (i), (iii), (iv) 



45 [P.T.O.

APR - 18224/II—B

96. Which of the following organizations

play a role in advocating for public

libraries in the USA through the

committee for public libraries ?

(i) American Library Association

(ii) Public Library Association

(iii) Library of Congress

(iv) Institute of Museum and

Library Services

Codes :

(A) (iii) and (iv) are correct

(B) (i) and (ii) are correct

(C) (ii) and (iii) are correct

(D) (i) and (iv) are correct

97. Which of the following are important

ethical considerations for librarian ?

(i) Intellectual freedom

(ii) Patron privacy

(iii) Collection weeding

(iv) Marketing strategies

Codes :

(A) (i) and (iii) are correct

(B) (ii) and (iv) are correct

(C) (iii) and (iv) are correct

(D) (i) and (ii) are correct

96.

(i)

(ii)

(iii)

(iv)

(A) (iii)  (iv) 

(B) (i)  (ii) 

(C) (ii)  (iii) 

(D) (i)  (iv) 

97.

(i)

(ii)

(iii)

(iv)

(A) (i)  (iii) 

(B) (ii)  (iv) 

(C) (iii)  (iv) 

(D) (i)  (ii) 
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98. Match the following Indian Institutes

with their developed software :

List I List II

(a) INSDOC (i) DFS

(b) DESIDOC (ii) NUCOS

(c) DRTC (iii) AFSARI

(d) BARC (iv) SANJAY

Codes :

(a) (b) (c) (d)

(A) (iii) (iv) (ii) (i)

(B) (iv) (iii) (i) (ii)

(C) (ii) (i) (iv) (iii)

(D) (ii) (iv) (i) (iii)

99. Arrange the following is order of

their establishment :

(i) Punjab University, Lahore

(ii) Summer School for Librarians,

Baroda

(iii) School of Library Economy,

Columbia

(iv) Andhra University,

Vishakhapatnam

Codes :

(A) (ii) (iii) (iv) (i)

(B) (iii) (iv) (i) (ii)

(C) (iii) (ii) (i) (iv)

(D) (i) (iv) (ii) (iii)

98.

I II

(a) (i) 

(b) (ii) 

(c) (iii) 

(d) (iv) 

(a) (b) (c) (d)

(A) (iii) (iv) (ii) (i)

(B) (iv) (iii) (i) (ii)

(C) (ii) (i) (iv) (iii)

(D) (ii) (iv) (i) (iii)

99.

(i)

(ii)

(iii)

(iv)

(A) (ii) (iii) (iv) (i)

(B) (iii) (iv) (i) (ii)

(C) (iii) (ii) (i) (iv)

(D) (i) (iv) (ii) (iii)
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100. Assertion (A) : Librarianship is a

dying profession, as everything is

available online, making physical

libraries obsolete.

Reason (R) : Librarians play a

crucial role in information literacy,

helping individuals, navigate the

vast amount of information

available online, evaluate sources

for credibility and develop critical

thinking skills.

Codes :

(A) Both (A) and (R) are true

(B) Both (A) and (R) are false

(C) (A) is false but (R) is true

(D) (A) is true but (R) is false

100. (A) : 

(R) : 

(A)  (A)  (R) 

(B)  (A)  (R) 

(C) (A)  (R) 

(D) (A) (R) 
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ROUGH WORK


